276 +3

Clearly explain your
mental method.

248 + 4

Clearly explain your
mental method.

Which of these is the odd
one out? Why?

360+4 3600+ 40

3600 + 400 360,000 + 4000

Order these from smallest

to largest
637+7 88+4
258 +6 14.7+0.7




Answers

276 +3=92

Clearly explain your mental
method.

248 + 4 =62

Clearly explain your mental
method.

Which of these is the odd one
out? Why?

360+4 3600 +40

3600 + 400 360,000 + 4000

3600 + 400 is the odd one out

because that equals 9

whereas all the others equal
90.

Order these from smallest to
largest

637+7 88+4

258 +6 14.7+0.7
1.14.7-0.7 =21
2.88+4=22
3.258 +6=43
4.637 +7 =91




